



Original Article

Impact of Induction Timing on Maternal and Neonatal Outcomes in Term and Late Preterm Prelabor Rupture of Membranes: A Prospective Observational Study

Nargis Fatima^{*}, Samia Nasreen¹ and Nasreen Hassan¹¹Department of Gynecology, Combine Military Hospital Malir, Karachi, Pakistan

ARTICLE INFO

Keywords:

Pre-Labour Rupture of Membranes, Labour Induction, Late Preterm, Neonatal Outcomes, Chorioamnionitis, Neonatal Sepsis

How to Cite:

Fatima, N., Nasreen, S., & Hassan, N. (2026). Impact of Induction Timing on Maternal and Neonatal Outcomes in Term and Late Preterm Prelabor Rupture of Membranes: A Prospective Observational Study: Induction Timing and Outcomes in Term and Late Preterm PROM. *Pakistan Journal of Health Sciences*, 7(9), 92-97. <https://doi.org/10.54393/pjhs.v7i9.4033>

*Corresponding Author:

Nargis Fatima
Department of Gynecology, Combine Military Hospital Malir, Karachi, Pakistan
nargisfatimah48@gmail.comReceived Date: 13th March, 20261st Revision Received: 14th April, 2026Acceptance Date: 6th May, 2026Published Date: 30th September, 2026

ABSTRACT

Prelabor rupture of membranes (PROM) is a significant obstetric complication predisposing a woman to chorioamnionitis, neonatal sepsis, and placental abruption. The optimal timing of labour induction, particularly in late preterm pregnancies, remains a clinical challenge requiring a balance between infectious risk and prematurity-related morbidity. **Objectives:** To evaluate the association between early versus late induction of labour and maternal and neonatal outcomes in women with term and late preterm PROM. **Methods:** This prospective study was conducted at the Combined Military Hospital, Malir, from October 2023 to September 2024. A total of 111 women with singleton pregnancies ≥ 34 weeks with confirmed PROM were grouped as term (≥ 37 weeks) or late preterm (34–36+6 weeks) and stratified by induction timing: early (6–12 hours) or late (>12 hours). Maternal and neonatal outcomes were analyzed using SPSS version 27.0, with Chi-square and Fisher's exact tests applied; $p < 0.05$ was considered significant. **Results:** Of 111 participants, term PROM was present in 59 (53.2%) and late preterm PROM in 52 (46.8%); 61 (55.0%) underwent early and 50 (45.0%) late induction. Spontaneous vaginal delivery was the predominant mode (63.1%). Late preterm PROM was associated with significantly worse neonatal outcomes than term PROM across all parameters, while induction timing had no significant effect on any maternal or neonatal outcome. **Conclusions:** Gestational age at membrane rupture is a stronger determinant of neonatal morbidity than induction timing. Thus, we cannot claim that early induction is definitively 'safe'—only that it was not associated with worse outcomes in this specific cohort.

INTRODUCTION

Prelabor rupture of membranes (PROM) refers to the spontaneous rupture of amniotic membranes before uterine contractions occur, allowing amniotic fluid to leak into the external genital tract and expose the intrauterine environment [1]. It is a significant obstetric complication as it predisposes to complications, including ascending infection, chorioamnionitis, placental abruption, umbilical cord prolapses, and neonatal sepsis, which add to maternal and neonatal morbidity [2, 3]. The prevalence of PROM is 3–15% during pregnancy, but most cases are detected at term (37 weeks of gestation) [4]. Membrane rupture is a

multifactorial process that includes mechanical stress on membranes and biochemical weakening of the extracellular matrix. Risk factors for PROM include genital tract infections such as bacterial vaginosis and Group B Streptococcal colonization, nutritional deficiencies, smoking, and prior cervical surgeries [5, 6]. Late preterm PROM, occurring at 34 to 36+6 weeks of gestational age, poses a specific management challenge wherein clinicians must balance the risk of preterm birth against the risk of infection related to prolonged membrane rupture [7]. After PROM at term, most women enter spontaneous labour



within a day. Clinical evidence shows that early labour induction does not raise the likelihood of caesarean section but can potentially reduce the risk of maternal and neonatal infection compared with expectant management. The management of late preterm PROM is more complex because late preterm neonates are susceptible to respiratory and infectious morbidities [1,8].

The rationale for the current study is that, although international studies can guide the management of PROM, there is limited evidence on this in Pakistan. Local health facilities vary in patient characteristics, available resources, and clinical practices, resulting in differences in outcomes. However, there is limited published evidence from Pakistan on the optimal timing of induction in PROM, and local clinical conditions, patient demographics, and available resources differ considerably from those in high-income settings. This gap makes it difficult to directly apply international guidelines to local clinical practice. The current study assesses how the timing of labour induction influences maternal and neonatal outcomes in women with PROM in term and late preterm pregnancies and produces evidence applicable to the local context. Therefore, this study aimed to evaluate the impact of early (6–12 hours) versus late (>12 hours) induction of labour on maternal and neonatal outcomes in women with term and late preterm PROM, and to compare outcomes between the two gestational categories.

METHODS

This prospective observational study was conducted at the Department of Obstetrics and Gynecology, CMH Malir Cantt, Karachi, from October 2023 to September 2024 after ethical approval vide 108/2023/TRG/CPS; dated 6th October 2023. Neonatal outcomes were captured from birth until hospital discharge (or up to a maximum of 28 days of life). Data on NICU admission, Apgar scores, birth weight, and antibiotic treatment for suspected sepsis were recorded daily during the entire neonatal hospital stay. A minimum sample size of 111 participants was estimated using the formula $n = Z^2 p(1-p)/d^2$, where $Z = 1.96$ (95% confidence interval), $p = 0.25$ (anticipated caesarean section rate in PPRM) [9], and $d = 0.08$ (precision level). A consecutive non-probability sampling method was used. Patient data were anonymised using unique serial identifiers, and no personal identifying information is disclosed in this manuscript, ensuring participant confidentiality. Women aged 18–40 years with singleton pregnancy, gestational age ≥ 34 weeks, confirmed PROM through sterile speculum examination, and cephalic presentation were included. Women with multiple gestations, malpresentation, placenta praevia or placental abruption, known fetal abnormalities, or intrauterine fetal death, or who required emergency caesarean delivery upon

admission were excluded. After written informed consent and recording baseline demographic information, patients were categorized as term PROM (≥ 37 weeks) or late preterm PROM (34–36+6 weeks). Gestational age was determined using the first-trimester ultrasound crown-rump length whenever available (78% of participants). For the remaining women, reliable LMP with regular cycles was used as a secondary method. They were also grouped by induction timing: Following the hospital's standard protocol for managing PROM at ≥ 34 weeks, induction was categorised as early (6–12 hours) – reflecting active management to reduce infectious risk – or late (>12 hours), when spontaneous labour was awaited. This 12-hour threshold was chosen based on local consensus and prior cohort data suggesting a reasonable balance between infection prevention and avoiding unnecessary early intervention. Cervical favorability (Bishop score) was not systematically recorded and could not be included in the analysis. Consequently, clinician discretion in choosing early versus late induction remains a potential source of confounding by indication.

Early induction (6–12 hours) was consistent with active management approaches aimed at reducing infectious morbidity by initiating labour promptly, while late induction (>12 hours) reflected a more expectant approach allowing more time for spontaneous labour onset [1,8]. Induction was performed using sublingual misoprostol (PGE1) 25 mcg; a second dose was administered after 6 hours if the Bishop score remained < 6 . Oxytocin infusion was started at 2 mU/min and increased by 2 mU/min every 15–30 minutes until 3 contractions per 10 minutes were achieved. If a woman entered spontaneous labour before the scheduled induction time, she was allocated to the 'late' group, and no induction agents were given. Neonatal evaluation was performed by the attending paediatrician, with Apgar scores assigned at 1 and 5 minutes, and daily clinical examinations until discharge. Maternal outcomes included mode of delivery, while neonatal outcomes included NICU admission, Apgar score < 7 at 5 minutes, birth weight < 2.5 kg, and Suspected neonatal sepsis was defined as the presence of ≥ 2 of the following clinical features (respiratory distress, temperature instability, lethargy, poor feeding, or tachycardia) within the first 72 hours, leading to initiation of empirical antibiotics for ≥ 48 hours. Blood cultures were obtained before antibiotic initiation to confirm early-onset sepsis where possible. All data were analyzed using SPSS version 27.0 and normality of numerical variables was confirmed using the Shapiro-Wilk test. The Chi-square test was used to compare categorical variables between groups when the expected cell frequency was ≥ 5 ; Fisher's exact test was used when the expected cell frequency was < 5 . Continuous variables were expressed as mean $\pm$ standard deviation. Comparisons of

outcome variables were performed across gestational categories and induction timing, and a stratified analysis combining both was conducted. A p-value of <0.05 was considered statistically significant.

RESULTS

A total of 111 participants were included in the study. The mean age was 28.43 ± 4.56 years (range: 18–38 years). The mean gestational age was 37.41 ± 2.59 weeks (range: 34–42 weeks). Most were aged 21–30 years (68, 61.3%), followed by 31–40 years (36, 32.4%) and 18–20 years (7, 6.3%). Regarding parity, 50 (45.0%) were primigravida and 61 (55.0%) multigravidas. The majority lived in urban areas (67, 60.4%) and were booked for antenatal care (77, 69.4%). Gestationally, 59 (53.2%) had term PROM and 52 (46.8%) late preterm PROMS. Induction was early in 61 (55.0%) and late in 50 (45.0%). Most deliveries were spontaneous vaginal (70, 63.1%), followed by caesarean (29, 26.1%) and assisted vaginal (12, 10.8%). Neonatally, 24 (21.6%) required NICU admission, 12 (10.8%) had low 5-minute Apgar scores, 24 (21.6%) had low birth weight, and 15 (13.5%) had suspected sepsis (Table 1).

Table 1: Baseline Characteristics and Maternal and Neonatal Outcomes of Participants

Variables	Categories	n (%)
Age Group	18–20	7 (6.3%)
	21–30	68 (61.3%)
	31–40	36 (32.4%)
Parity	Primigravida	50 (45.0%)
	Multigravida	61 (55.0%)
Residence	Urban	67 (60.4%)
	Rural	44 (39.6%)
Booking Status	Booked	77 (69.4%)
	Unbooked	34 (30.6%)
Gestational Category	Term PROM	59 (53.2%)
	Late Preterm PROM	52 (46.8%)
Induction	Early	61 (55.0%)
	Late	50 (45.0%)
Mode of Delivery	Spontaneous Vaginal	70 (63.1%)
	Caesarean	29 (26.1%)
	Assisted Vaginal	12 (10.8%)
NICU Admission	Yes	24 (21.6%)
	No	87 (78.4%)
Low Apgar (<7 at 5 min)	Yes	12 (10.8%)
	No	99 (89.2%)
Low Birth Weight (<2.5 kg)	Yes	24 (21.6%)
	No	87 (78.4%)
Suspected Neonatal Sepsis	Yes	15 (13.5%)
	No	96 (86.5%)

Neonatal outcomes differed significantly by gestational category. Late preterm PROM infants had higher rates of NICU admission (34.6% vs 10.2%, OR 4.7, 95% CI 1.7–12.9, $p=0.004$), low Apgar scores (19.2% vs 3.4%, OR 6.8, 95% CI

1.4–32.6, $p=0.012$), low birth weight (38.5% vs 6.8%, OR 8.6, 95% CI 2.7–27.3, $p<0.001$), and suspected sepsis (23.1% vs 5.1%, OR 5.6, 95% CI 1.5–21.1, $p=0.010$) compared with term PROM infants. The mode of delivery was similar across groups ($p=0.802$). It should be noted that while these findings align with several randomized controlled trials, direct comparisons should be interpreted cautiously, as our observational design cannot establish causality and is subject to confounding by indication (Table 2).

Table 2: Comparison of Maternal and Neonatal Outcomes by Gestational Category

Variables	Categories	Term PROMn (%)	Late Preterm PROMn (%)	p-value (Test)
Mode of Delivery	Caesarean	14 (23.7%)	15 (28.8%)	0.802 (Chi-square)
	Spontaneous Vaginal	38 (64.4%)	32 (61.5%)	
	Assisted Vaginal	7 (11.9%)	5 (9.6%)	
NICU Admission	Yes	6 (10.2%)	18 (34.6%)	0.004 (Chi-square)
	No	53 (89.8%)	34 (65.4%)	
Low Apgar	Yes	2 (3.4%)	10 (19.2%)	0.012 (Fisher)
	No	57 (96.6%)	42 (80.8%)	
Low Birth Weight	Yes	4 (6.8%)	20 (38.5%)	<0.001 (Fisher)
	No	55 (93.2%)	32 (61.5%)	
Suspected Sepsis	Yes	3 (5.1%)	12 (23.1%)	0.010 (Fisher)
	No	56 (94.9%)	40 (76.9%)	

When outcomes were compared by induction timing, no statistically significant differences were observed. Rates of caesarean delivery, assisted vaginal delivery, NICU admission, low Apgar, low birth weight, and suspected sepsis were similar between early and late induction groups (all $p>0.050$) (Table 3).

Table 3: Comparison of Maternal and Neonatal Outcomes by Induction Timing

Variables	Categories	Early Induction, n (%)	Late Induction, n (%)	p-value (Test)
Mode of Delivery	Caesarean	14 (23.0%)	15 (30.0%)	0.533 (Chi-square)
	Spontaneous Vaginal	42 (71.2%)	28 (53.8%)	
	Assisted Vaginal	5 (8.5%)	7 (13.5%)	
NICU Admission	Yes	14 (23.7%)	10 (19.2%)	0.885 (Chi-square)
	No	47 (77.0%)	40 (80.0%)	
Low Apgar	Yes	9 (15.3%)	3 (5.8%)	0.219 (Fisher)
	No	52 (85.2%)	47 (94.0%)	
Low Birth Weight	Yes	13 (22.0%)	11 (21.2%)	1.000 (Chi-square)
	No	48 (78.7%)	39 (78.0%)	
Suspected Sepsis	Yes	10 (16.9%)	5 (9.6%)	0.166 (Chi-square)
	No	50 (82.0%)	46 (92.0%)	

DISCUSSION

Prelabor membrane rupture remains a significant obstetric issue, and the present study contributes evidence on how gestational age at membrane rupture and the timing of

labour induction affect maternal and neonatal outcomes. The caesarean section rate in the study was 26.1%, which is in line with rates reported in similar settings. A Yemeni study on induction of labour outcomes reported a caesarean rate after induction of 12.1%, with PROM being the most commonly used induction trigger (65.1% of cases) [10]. The higher caesarean rate in the current cohort could be attributed to the clinical complexity of the mixed-term and late preterm population. Notably, no statistically significant difference was found between the early and late induction groups in caesarean delivery rates, which is consistent with the findings of Awkadi et al. who conducted a randomised controlled trial in Nigeria comparing active and expectant management of term PROM and reported no significant difference in caesarean rates between the groups, though active management significantly reduced the latency and induction-to-delivery interval [11]. It should be noted that while our findings align with those of several randomised controlled trials, direct comparisons should be interpreted cautiously, as our observational design cannot establish causality and is subject to confounding by indication. The most clinically significant observation of this research is the association between late preterm PROM and worse neonatal outcomes compared with term PROM group across all measured parameters. This is well supported by evidence from other settings. A large retrospective cohort study by Schmidt et al. showed that each additional week of gestational age at birth reduced the risk of adverse neonatal outcomes such as NICU admission, neonatal sepsis, and respiratory distress syndrome [12]. Similarly, Suleiman et al. in a study conducted in a tertiary hospital in Nigeria, found that neonatal outcomes of birth weight, Apgar score, and NICU admission were all heavily dependent on gestational age at membrane rupture rather than the management strategy applied [13]. Of particular interest is the high incidence of suspected neonatal sepsis in late preterm infants in this study (23.1% vs 5.1% in term PROM). This is consistent with the findings of Chiossi et al. who reported a multicentre cohort of expectantly managed late preterm PROM in Italy, in which gestational age at rupture of membranes, specifically at 34 weeks, was associated with adverse neonatal outcomes on multivariate analysis [14]. These findings confirm that late preterm neonates are more vulnerable to both infectious and respiratory morbidity, and this study demonstrates that this vulnerability is not modified by whether induction occurs early or late. The absence of statistically significant differences across all outcomes between the early (6–12 hours) and late (>12 hours) induction groups is also noteworthy. Abu Shqara et al. compared 12-hour and 24-hour induction protocols for term PROM at an Israeli tertiary centre and found that the

24-hour group experienced more chorioamnionitis, NICU admissions, antibiotic use, and respiratory distress [15]. Although the suspected sepsis rate in the early induction group was numerically higher in the current study (16.9% vs 9.6%), the difference was not statistically significant, possibly due to the small sample size. Yuan et al. reported that vaginal dinoprostone used within 6 hours of PROM was associated with lower caesarean rates and fewer non-reassuring fetal heart rate traces compared with induction within 6–24 hours, suggesting potential benefits of earlier induction [16]. Bitenc et al. found that a longer latency at 32–37 weeks of preterm PROM was associated with an increased risk of early neonatal infection and a higher caesarean rate, further supporting the need for timely delivery [17]. The debate over expectant versus active management, especially in late preterm PROM, continues internationally. Lee and Lynch reviewed key randomised trials and meta-analyses, including the PPRoMEXIL series and argued that expectant management in late preterm PROM can mitigate respiratory morbidity and NICU admission when fetal and maternal status are stable [18]. On the other hand, Bitar and Sibai argued that expectant management should not be recommended at ≥ 34 weeks because of greater risks of haemorrhage and infection with longer expectancy [19]. Although no statistically significant differences were observed between early and late induction groups, the study was not formally designed as a non-inferiority trial. Thus, these negative findings should be interpreted cautiously; a larger sample would be required to rule out clinically meaningful differences. The PPRoMEXIL 10-year follow-up study by Simons et al. reported no significant differences in neurodevelopmental outcomes between children born following induction and those born after expectant management, indicating that early delivery itself does not negatively affect child development [20]. The combination of these results suggests that, in the Pakistani tertiary care setting, gestational maturity is the most important determinant of neonatal prognosis, and induction timing within the 6–12-hour or > 12-hour window did not significantly affect outcomes. In their systematic review of term PROM management, Ramirez-Montesinos et al. noted that the debate between active and expectant management remains unresolved, and that reducing unnecessary vaginal examinations and using structured protocols could also be important factors in reducing infection risk [21]. This underscores the importance of standardised, locally adapted clinical guidelines in Pakistan, where heterogeneous practice may contribute to preventable morbidity. Several important confounders were not measured in this study, including maternal body mass index, smoking status, cervical length on admission,

presence of regular contractions at presentation, antenatal corticosteroid administration, Group B Streptococcus colonization, and intrapartum antibiotic prophylaxis. The absence of these variables introduces the possibility of residual confounding, which could have biased the observed associations between induction timing and outcomes. For instance, women with more favourable cervical status or those who received corticosteroids may have been more likely to undergo early induction, potentially masking differences between groups. These limitations should be addressed in future studies through systematic collection and adjustment for these confounders. Data on several potential confounders were not collected in this pragmatic observational study, including maternal body mass index, smoking status, cervical length on admission, presence of regular contractions at presentation, antenatal corticosteroid administration, Group B Streptococcus colonization status, and intrapartum antibiotic prophylaxis. The absence of these variables means that residual confounding cannot be ruled out, and these factors should be addressed in future prospective studies.

This study has several important limitations: its single-centre military hospital setting limits generalisability, and the observational design introduces confounding by indication, particularly as cervical Bishop scores and clinician decision-making were not recorded. Additionally, we lacked data on multiple potential confounders including maternal BMI, smoking, Group B Streptococcus (GBS) colonization status, corticosteroid use, and antibiotic prophylaxis, which could have influenced both the decision regarding induction timing and the outcomes measured. Without these data, we cannot exclude residual confounding as an explanation for our findings. Future research should include multicentre randomised controlled trials in Pakistan to strengthen the evidence base. Studies should incorporate microbiological confirmation of neonatal sepsis, longer follow-up periods to assess neurodevelopmental outcomes, and cervical assessment scores to control for confounding. Additionally, cost-effectiveness analyses of early versus expectant management protocols in resource-limited settings would be of practical value for local health policy.

CONCLUSIONS

Gestational age at the time of membrane rupture appears to be the main contributor to neonatal morbidity in PROM, and late preterm newborns are at high risk irrespective of the timing of induction. Early labour induction was not associated with deleterious maternal or neonatal effects in this cohort, suggesting that an active approach could be considered as a management option, though causality cannot be inferred from this observational design with

PROM at ≥ 34 weeks of gestation. Based on these findings, we recommend developing and adopting gestational age-specific induction protocols in resource-limited settings such as Pakistan, with particular emphasis on close monitoring and early supportive care for late preterm neonates. Clinicians should be reassured that early induction (within 6–12 hours) does not worsen maternal or neonatal outcomes and may be safely implemented where clinical resources permit. Future multicenter prospective studies with microbiological outcome confirmation are warranted to provide stronger evidence to guide local clinical guidelines.

Authors' Contribution

Conceptualization: NF, SN

Methodology: NF, SN

Formal analysis: NF, SN

Writing and Drafting: NF, NH

Review and Editing: NF, SN, NH

All authors approved the final manuscript and take responsibility for the integrity of the work

Conflict of Interest

All the authors declare no conflict of interest.

Source of Funding

The authors received no financial support for the research, authorship and/or publication of this article.

REFERENCES

- [1] Bachar G, Shemesh D, Farago N, Siegler Y, Khatib N, Ginsberg Y et al. The optimal induction timing in prelabor rupture of membranes: a retrospective study. *The Journal of Maternal-Fetal & Neonatal Medicine*. 2023 Dec; 36(1): 2215997. doi: 10.1080/14767058.2023.2215997.
- [2] Jiang Y, Zhang Y, Li Y, Zhao K, Zhao Y, Che Y. Determinants for Premature Rupture of Membranes: A Prospective Cohort Study. *BioMed Central Pregnancy and Childbirth*. 2025 May; 25(1): 633. doi: 10.1186/s12884-025-07748-0.
- [3] Hagen ID, Bailey JM, Zielinski RE. Outcomes of Expectant Management of Term Prelabor Rupture of Membranes. *Journal of Obstetric, Gynecologic and Neonatal Nursing*. 2021 Mar; 50(2): 122–132. doi: 10.1016/j.jogn.2020.10.010.
- [4] Telayneh AT, Ketema DB, Mengist B, Yismaw L, Bazezew Y, Birhanu MY et al. Pre-Labor Rupture of Membranes and Associated Factors Among Pregnant Women Admitted to the Maternity Ward, Northwest Ethiopia. *PLOS global public health*. 2023 Mar; 3(3): 1702. doi: 10.1371/journal.pgph.0001702.
- [5] Tano S, Ueno T, Mayama M, Yamada T, Takeda T, Uno K et al. Relationship between vaginal group B

- streptococcus colonization in the early stage of pregnancy and preterm birth: a retrospective cohort study. *BMC Pregnancy and Childbirth*. 2021 Feb; 21(1): 141. doi: 10.1186/s12884-021-03624-9.
- [6] Mu Y, Hu A, Kan H, Li Y, He Y, Fan W et al. Preterm Prelabor Rupture of Membranes Linked to Vaginal Bacteriome of Pregnant Females in the Early Second Trimester: A Case-Cohort Design. *Reproductive Sciences*. 2023 Jul; 30(7): 2324-2335. doi: 10.1007/s43032-022-01153-0.
- [7] Monari F, Chiossi G, Ballarini M, Menichini D, Gargano G, Coscia A et al. Perinatal Outcomes in Twin Late Preterm Pregnancies: Results from an Italian Area-Based, Prospective Cohort Study. *Italian Journal of Pediatrics*. 2022 Jun; 48(1): 101. doi: 10.1186/s13052-022-01297-4.
- [8] Alansari B, Almiraisi H, Alani R, Abozenah Y, Ghorabah M. Immediate Induction Versus Expectant Management in Term Premature Rupture of Membranes: A Longitudinal Analysis of Maternal and Neonatal Outcomes. *Cureus*. 2025 Jul; 17(7): 87640. doi: 10.7759/cureus.87640.
- [9] Puhl A, Weiss C, Schneid A, Zahn E, Kraft K, Pretscher J et al. Erhöht die Geburtseinleitung wegen eines frühen vorzeitigen Blasensprungs ab 34+ 0 SSW das Risiko für einen Kaiserschnitt? *Zeitschrift für Geburtshilfe und Neonatologie*. 2020 Oct; 224(5): 269-274. doi: 10.1055/a-1110-1132.
- [10] Thabet A, Dajenah M, Ahmed F, Ghabisha S, Dajenah Z, Al-Hagri A, Badheeb M. Induction of Labor Outcomes: Insights from a Single-Center Experience from Yemen. *Journal of Emergency Medicine, Trauma and Acute Care*. 2025 Feb; 2025(1): 3. doi: 10.5339/jemtac.2025.3.
- [11] Awkadijwe FI, Ezugwu FO, Eleje GU, Nweze SO, Odugu BU, Dinwoke VO et al. Active Versus Expectant Management for Premature Rupture of Membranes at Term: A Randomized, Controlled Study. *Journal of International Medical Research*. 2023 Aug; 51(8): 03000605231195451. doi: 10.1177/03000605231195451.
- [12] Schmidt EM, Powell JM, Garg B, Caughey AB. Association Between Gestational Age and Perinatal Outcomes in Women with Late Preterm Premature Rupture of Membranes. *American Journal of Perinatology*. 2024 Dec; 41(16): 2312-4. doi: 10.1055/a-2328-6192.
- [13] Suleiman BK, Bello OO, Tijani AM, Oluwasola TA. Management Outcome of Premature Rupture of Membranes in a Tertiary Health Facility in South Western Nigeria. *Annals of Ibadan Postgraduate Medicine*. 2021; 19(1): 63-9.
- [14] Chiossi G, Di Tommaso M, Monari F, Consonni S, Strambi N, Zoccoli SG et al. Neonatal Outcomes and Risk of Neonatal Sepsis in an Expectantly Managed Cohort of Late Preterm Prelabor Rupture of Membranes. *European Journal of Obstetrics and Gynecology and Reproductive Biology*. 2021 Jun; 261: 1-6. doi: 10.1016/j.ejogrb.2021.03.036.
- [15] Abu Shqara R, Rosso L, Lowensetin L, Frank Wolf M. Maternal and Perinatal Infectious Morbidity in Term Prelabor Rupture of Membrane According to Two Induction of Labor Protocols. *Archives of Gynecology and Obstetrics*. 2024 Sep; 310(3): 1577-85. doi: 10.1007/s00404-024-07624-w.
- [16] Yuan L, Sun G, Guan P, Chen J, Leng B, Cao D. Use of vaginal dinoprostone for women with term prelabor rupture of membranes and an unfavorable cervix within 6 h versus within 6-24 h. *BioMed Central Pregnancy and Childbirth*. 2024 Aug; 24(1): 548. doi: 10.1186/s12884-024-06760-0.
- [17] Bitenc M, Ovsenik L, Lučovnik M, Verdenik I, Kornhauser Cerar L. Association Between Latency Period and Perinatal Outcomes After Preterm Premature Rupture of Membranes at 32-37 Weeks of Gestation: A Perinatal Registry-Based Cohort Study. *Journal of Perinatal Medicine*. 2022 Jan; 50(1): 18-24. doi: 10.1515/jpm-2021-0082.
- [18] Lee D and Lynch TA. PPRM in the Late Preterm Period: An Argument for Expectant Management. *American Journal of Obstetrics and Gynecology MFM*. 2025 Mar; 7(1): 101563. doi: 10.1016/j.ajogmf.2024.101563.
- [19] Bitar G and Sibai BM. Preterm Premature Rupture of Membranes in the Late Preterm Period: An Argument Against Expectant Management. *American journal of obstetrics and gynecology MFM*. 2025 Mar; 7(1): 101619. doi: 10.1016/j.ajogmf.2025.101619.
- [20] Simons NE, de Ruigh AA, van't Hooft J, Aarnoudse-Moens CS, van Wely M, van der Ham DP et al. Childhood Outcomes After Induction of Labor or Expectant Management for Preterm Prelabor Rupture of Membranes: A 10-Year Follow-Up of the PPRMEXIL Trials. *American Journal of Obstetrics and Gynecology*. 2023 May; 228(5): 588-1. doi: 10.1016/j.ajog.2023.02.007.
- [21] Ramirez-Montesinos L, Downe S, Ramsden A. Systematic Review on the Management of Term Prelabour Rupture of Membranes. *BioMed Central Pregnancy and Childbirth*. 2023 Sep; 23(1): 650. doi: 10.1186/s12884-023-05878-x.